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80 80
80 80
80 80

net‘de
ÇÖZÜMLER

1.  = 275

 = 541

 = 457

 = 127

 = 7 ,  = 5 ,  = 4 , 

 = 1 ,  = 2

 = 417

Cevap: C

2.      = 35268

 = 56382

 = 52683

 = 35286

 = 5 ,  = 3 ,  = 2 ,  = 6 ,  = 8

 = 63825

Cevap: D

3.  = 124

 = 435

 = 213

 = 314

 = 542

 = 4,  = 3 ,  = 5 ,  = 2 ,  = 1

 = 542

Cevap: D

4.  = 2345

 = 1563

 = 4310

 = 5063

 = 6425

 = 4 ,  = 3 ,  = 1 ,  = 0 ,  = 5 ,

 = 6 ,  = 2

 = 3261

Cevap: D

5.  = 3515

 = 6262

 = 8535

 = 9767

 = 3582

 = 6 ,  = 2 ,  = 3 ,  = 5 ,  = 8 ,

 = 1 ,  = 9 ,  = 7

 = 19367

Cevap: A
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net‘de
ÇÖZÜMLER

6.  = 35781

 = 81375

 = 75813

 = 13857

 = 3 ,  = 5 ,  = 7 ,  = 8 ,  = 1 

 = 57138

Cevap: D

7.  = 2351

 = 1563

 = 5136

 = 3615

 = 6352

 = 3 ,  = 6 ,  = 1 ,  = 5 ,  = 2 

 = 5136

Cevap: D

8.  = 4,  = 5 ,  = 3 ,  = 1 ,  = 6

 = 6514

Cevap: E

9.  = 3,  = 5 ,  = 1 ,  = 8 ,  = 4

 = 841

Cevap: A

10.  = 3245

 = 7316

 = 2754

 = 5423

 = 6172

 = 6 ,  = 1 ,  = 7 ,  = 2 , 

 = 4 ,  = 3 ,  = 5

 = 1324

Cevap: B
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net‘de
ÇÖZÜMLER

11. ∆ = 5 , Ο = 6 , Ω = 1 , ⊗ = 4 , θ = 2 , Ψ = 3

Ψ  θ  Ω  ∆ = 3215

Cevap: C

12. ∆ = 2 , Φ = 7 , ∅ = 3 , ⊕ = 9 , Θ = 1 , Γ = 8

Θ  Φ  ⊕  ∆ = 1792

Cevap: B

13. o = 7 , ▣ = 5 , ✴ = 1 , ⦿ = 3 ,  = 4 ,

✱ = 8 ,  = 2

▣⦿ ✱ = 5328

Cevap: C

14. × = 4 , Ã = 3 , ¹ = 5 , à = 8 ,

� = 6 , ª = 2 , ¸ = 7

¹   ̧   �   à   =   5768

Cevap: B

15.  = 3127

 = 8727

 = 1278

 = 5921

 = 3951

 = 1,  = 2 ,  = 7 ,  = 8 ,  = 5 ,

 = 9 ,  = 3

 = 3951

Cevap: C



4

3.3.3.

TA
SA

R
I 

E
Ğ

İT
İM

 Y
A

Y
IN

L
A

R
I

80 80
80 80
80 80
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ÇÖZÜMLER

16.  = 1342

 = 5613

 = 3425

 = 6134

 =  4256

 = 1 ,  = 3 ,  = 4 ,  = 2 ,

 = 5 ,  = 6

    = 3425

Cevap: B

17.  = 4237

 = 2716

 = 3624

 = 6173

 = 7341

 = 2,  = 7 ,  = 1 ,  = 6,

 = 3 ,  = 4

 = 6173

Cevap: D

1 8 .  ¡�z¡  = 4284

¡zÍ�  = 4812

Íz�Í  = 1821

Í�¡6  = 1247

z�Í6  = 8217

6  = 7 , �  = 2 , ¡  = 4 , z  = 8 , Í  = 1

Í�¡6  = 1247

Cevap: B

19.  = 469

 = 349

 = 637

 = 693

 = 474

 = 9 ,  = 6 ,  = 3 ,

 = 4 ,  = 7

 = 763

Cevap: B

20. ▢△▽○ = 7296

△▽○◁ = 2965

◇ ◁△ = 8152

◇△ = 3182

△▽△◁ = 2925

△ = 2, ◁ = 5 , ○ = 6 , ▽ = 9,

▢ = 7 , ◇  = 8 ,  = 1   = 3

▽△◁○ = 9256

Cevap: A


